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Full Marks : 90
II Time : 4 hours

Tl?ne figures in the right hand margin indicate marks

Candtdates are required to give their answers in their
own words as far as practicable

Iilustrate the answers wherever necessary

{OLD SYLLABUS ]

GROUP -A
{ Long Answer Type Questions ]

Answer any two questions, each within 800 words :
15x2
1. What is social feminism ? Describe the causes

and impacts of poverty on society in India, 5 + 10

( Tirn Over ).



Discuss functional classification of urban centres
as proposed by . D. Harris. What do you mean
by rural urban fringe 7 i0+5

Write the methods to delineate forraal and
functional region. Eiucidate the importances of
environmental region. 10+5

Criticaily evaluate the relative advantages and
disadvantages of the "Rimland and Hearziand"
regions. Differentiate between Boundary and
Frontier. 10+5

GROUP - B
'[' Sefni-Long Answer Typé Qﬁéétions i

Answer any five questions, each within 300 words,

S,

selecting one from each Unit : x5
Unir — 1 |
?ricfly discuss about the concept of social
justice. 2
Or

Explain the processes of cultural diffusion. 8
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Unit — 2

6. " Differentiate the culture of an agricultural society
- and urban society. 8

Or

Discuss how the livelihocd pattern of
Eskimos of Arctic region is controlled by natural

environment. 8
Unit — 3
7. Elucidate the relevance of political geography in
the politics of space. 8
Or
Bring out the geopolitics of sharing water
resources between India and Bangladesh. 8
Unir - 4

;:. 8. Discuss in brief the schemes of Regionalization
in India according to V. Nath. 8
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Or
Write the functions of urban centres. 8

Unir - §

9. What do you mean by hierarchy of Region ? How
do physical and economic plan vary ? 3+5

Or

Discuss the 'site’ and 'situation’ of settlement.
What do you mean by size of settlement? 4 +4

GROUP —-C
{ Short Answer Type Questions ]

Answer any five questions, each within 150 words,

selecting one from each Unit : 4 x5
UniT — 1
10. How does social group emerge ? 4
Or

Elucidate the importance of innovation in
cultural evolution. 4
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UnNit - 2

11. Identify the major languages spoken in Southern
~ India. 4

Or

Write the livelihood pattern of Aborigines of
Australia. 4

| Unit — 3
'12. Write the geopolitical concept of Housofer, 4

Or

Bring out the characteristics of "Inner
-Crescent". 4

Unit — 4

13. Differentiate between 'census town' and 'statutory
town'. 4

Or

Write the characteristics of nucleated rural
settlement. _ 4
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UnNiT - 5

14. Define urban sprawl. 4
Or

Assess the importance of region in
Geographical study. 4
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